LABJNDu3-Normhelligkeit L*

L* YocmL*w - nc=100,

L* L aBaNDus=IN(A 17+A20Y)/(A2nAon)  (Ynd/100<Y<=Y,,0)
L*Laganpua=IN(A1ntA20)/(A2iAon)  (X=Y1Yy)
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LABJINDu3
Normfarbwertdifferenz
Yoc=L* w nc=100,
L*LaganDua=IN(A1n+A2nY)(AzrAcn) - (Yao/100<Y<=Yyo)
L*Laganpua=IN(A1ntA20)/(A2iAon)  (X=Y/Yy)
dY=Agn(A1+AznY)=Aon(A1+Ag,X). Siehe CIE 230:2019
dYoq=0.24, Ay,=0,6666, £,=0,0699, ¢=0,67

dY,g=0,05, A=0,011, A4,=0,0038
dY36=0,01 Y,=18, dY=0,05

5 dY,/Y,=0,0030 %
RTAlR s

log(dY)=0,05 m,=0,85 Anwendungs-

bereich
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LABJINDu3
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

L* LaganDua=IN(A1ntA2nY)(A2rAcn)  (Yao/100<Y<=Yyo)

L*Laganpua=IN(A1ntA20)/(A2iAon)  (x=Y/Yy)

dY/Y=Aon(A1ntAY)IY=Agn(A1+A XY
(dY/Y}g=0,0026, 4,=0,6666, /,~0,0699, ¢=0,67

(dY/Y)=0,0030, A,=0,011, A,=0,0038
(dY/Y) 6=0,0046 Y,=18, dY=0,05
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LABJNDu3
Normfarbwertkontrast

Y=L w nc=100,
L*LaganDua=IN(A1ntA2nY)(A2rAcn)  (Yao/100<Y<=Yyo)
L*Laganpua=IN(A1ntA20)/(A20A0n)  (X=Y7Yy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

C,=(Y/AY)
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(YIAYpg=373 52, Ayy=0,6666, Aoy=0,0608, 2067
(Y/dY)g=331,94, A=0,011, Azn:o,ooaﬁnwe%dung&
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L¥/L* LABJINDu3 relative Normhelligkeit L*/L* ,

LAL* YocmL*w - nc=100,

L* LaganDua=IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Y,c)
L*| AganDua=IN(A 10t A2) (A2iAon) — (X=YTY)

L* (3,6)=491L* ,(18)=1116,*,,(90)=1737

L*go/L*=1,55, Ay=0,6666, /,=0,0699, ¢=0,67
L*1g/L*,=1,00, A=0,011, A,=0,0038
L*3¢L* =0,43,L*=1115,68 Y=18

log[L*/L* ,]=0, m=0,33
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LABJNDuS3 relative
Normfarbwertdifferenz
INTNA Yo=L*w =100,

L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Y,c)
L1 ABanDua=IN(A 10t A2 ) (A2iAon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYag/dY,=4,43, A)=0,6666, A,=0,0699, ¢=0,67
dY;gdY,=1,00, A=0,011, A,=0,0038 -
dYs ¢dY,=0,31 Y18, d=0,05 %
y

Anwendungs-|
bereich

log [AYY) I (AYIY),]

LABJNDuS3 relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Yne/100<Y<=Y,o)
L ABanDua=IN(A 1ntA2) (A2iAon) - (X=YTYy)
(@Y/YY(AYIYV)=[(A 1+ A X)X (A 17 +A)

(AY/Yyo/(dY/Y)=0,88, Ay=0,6666, A,=0,0699, ¢=0,67
(dY/Y)g/(dY/Y}1.00, A=0,011, A,=0,0038
(dY/IY} f(dY/Y)=1,°8 Y,=18 dY=0,05
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log[(dY/YY(dY/Y)J=0, m=-0,13 1
L*,=1116 d¥,=0,05 dY¥,/Y,=0,003)

Iy =1

Anwendungs-|
bereich

log [(Y/AY) I (YAY),]
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LABJNDu3 relativer
Normfarbwertkontrast

CICU=(YIAVYI(YIAY), NomLr e ST00,
L* Laganpua=IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Y,c)
L1 aBanDua=IN(A 1ntA20) (A2iAon) - (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)g/(Y/dY)=1,12, A,=0,6666, A,=0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A,1=0,011, A=0,0038
(YIdYY g(Y/dY)=0,64 Y, =18, dY=0,05
log[(Y/dY)(Y/dY);]=0, m=0,13

L* =116 dY,=0,05 Y, /d>=331 1
v 2 Anwendungs-
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XN=0,2




